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A compass is a tool for finding
direction. A simple compass is a
magnetic needle mounted on a
pivot, or short pin.

The needle, which can spin
freely, always points north. The
pivot is attached to a compass
card. The compass card is
marked with the directions. To
use a compass, a person lines up
the needle with the marking for
north. Then the person can
figure out all the other
directions.

A compass works because Earth
is a huge magnet. A magnet has
two main centers of force, called
poles—one at each end. Lines of
magnetic force connect these
poles. Bits of metal near a
magnet always arrange
themselves along these lines. A
compass needle acts like these
bits of metal. It points north
because it lines up with Earth’s
lines of magnetic force.
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through the wire and the wire is
placed on top of the compass,
will the compass needle be
deflected?)

Place the wire on top of the
compass and connect it to the
battery. Observe what happens
to the compass needle. Does it
deflect?

(If there is current flowing
through the wire and the wire is

— 1 % 35 3 =
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A e will the compass needle be
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If the position of the wire stays
the same, but the direction of the
current changes, the compass
needle will be deflected in the
opposite direction.

If the direction of the current
stays the same, but the position
of the wire changes, the compass
needle will also be deflected in
the opposite direction.

A current-carrying wire induces
magnetism.

A current-carrying wire
produces a magnetic field.
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A coil of current-carrying wire
induces magnetism.

A coil of current-carrying wire
produces a magnetic field
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Let' s make a Electromagnet

oy

T\

.///f,

Aput the corein A Connect to the battery and try

to attract the paperclip

A current-carrying coil with iron
core, that produces a magnetic

field.

When the current is removed,

the magnetism may stop

working.

Group: Members:

Let's make a Electromagnet( ) @
|® Make observations (i3 §2);

A current-carrying coil induces magnetism, but it (can/can not!

attract the paperclipsasit).

e Make a hypothesis (/% {E2%)

If a current-carrying coil with

magnetic field.

4
Awood

e Record the results (575 5%

\\\\\

core, that produces a

ey,

We usethe ______ rolls coil to attract the paperclips.
[CoSat e I =

wood aluminum iron
First time
Second time
Third time
Average(*}-#4)

@ Draw a conclusion (J54
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&How to increase the Magnetic Force(ii/))
of an Electromagnet(fif)

® liale Ehseml‘mns [ﬁ%ﬂ.ﬁ]:%\

A current-carrying coil with an iron core is called an electromagnet.

® iska questiualj}w i) ?

How do we increase the magnetic force of an electromagnet?

® Niake 3 hypothesis (T4 53

whe B X
By O the rumber D““""‘S"*Em may increase the magnetic force of an electromagnet.
¥ O The number of series dircuit |

(ERRE)

Class: Group:

%How to increase the Magnetic Force(iii/]) -
of Electromagnet(iik)-
. Make(mglﬂsz):f‘ &

A current-carrying coil with an iron core is called an electromagnet. .
o nska et P

How to increase the magnetic force of elec ?
® Make a|hypothesid (Fgifia%):

)i~ & Number of tumse @8 may increase the magnetic force of
[ Number of series circuit.

N (SR8
® perimental design (E8#HE): ~
Independent variables (GERR) ‘
o

| Dependentveriables (BRSP4
| peeGEmEgSE

@ Draw a conclusion (5

SCIENTIFIC METHOD o
PRESENTATION TEMPLATE

This is our design.

Our conclusion is that

| AR 2

T
=

(g
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Group: Members:

SHMKETR kM -SVE - FEEE > HRigARS)
1

Let's make a Electromagnet(E &)

e Make observations (& Z5 52):

?

A current-carrying coil induces magnetism, but it (can/can not)

attract the paperclipsiazsh).

d2J1y.

e Make a hypothesis (fF2)i\ {Ei5%):
If a current-carrying coil with

magnetic field.

core, that produces a

Awood A aluminum Airon
e Record the results (EC#% 8 Bush 5L):
We usethe ____ rolls coil to attract the paperclips.
(FefFifEH FE R SR E).

wood aluminum iron

First time
Second time
Third time
Average(“J-15)

e Draw a conclusion (JEELESR):

i

AN

i

{
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Class: Group:

%How to increase the Magnetic Force(f#% )
of Electromagnet(EiZ)

® Make jobservations (Eﬁé@%ﬁ%):%
A current-carrying coil with*an iron core is called an electromagnet.
® Ask a question| (Z2HE) P
How to increase the mugnetic force of electromagnet?
® Make a hypothesis| (FZR{ERER):

may increase the magnetic force of electromagnet.

N |
_O’_ L] Number of turns((EEEY

* [ Number of series circuit
® Experimentalaasign (BERERET):

Independent variables (GE4YEHE)

Controlled variables (= EH)

Dependent variables (JEEEH)

Data(EEREHEECER)

® Draw a [conclusion| (EB4E5:R):
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SCIENTIFIC METHOD
PRESENTATION TEMPLATE

We see that

SSSSS

So, we have a question :

This is our design.

Our conclusion is that
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